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M0c6k1Test‘ SOLUTION
—

LA QMDFEHKN]J

opp.
DMQVINKH

Same as
I LEHLRETP
opp.
HEL I

TE R

X =43 +(4)’
X=+/9+16
<=5

Xx=5

3. (D) 64 is divisible by 32
other are not divisible [1* term is not divisible
I term]

5.D)D=12
4x3=12
AGE =39
(1+7+5)x3=39
13 x 3 =139
JADE=7?
(10+1+4+35)x3=7
20 x 3 =60
Logic : (add place value)x3

WLy g
1(|) 2|é|l 4T|l 7|(|) l|02

14 20 26 32

I Il I |

6 6 6

2|57

Logic : tripal difference
7. (B) 432 : 324 : 231
(1 is not given the series)
other option repeatation of numbers only their
position.
8. (D)

9. (B) 117 divide by 9 and 13
other are not divisible number.

10. (D)

Star
11. (A) Single = 24

Double = 7
Large =2
Total = 33
12. (A) AOE :FUJ :: RKT: ?
A OE R K T
+5‘ +6’ +5‘ +5| +6|+5
F Ul u
13. (D) K L I H
L [ - ‘
-1 -1
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P 24. (B)
<]
= 25. (B)
rd +3 +3
g R T
: +3 +3 4
® | +i | +3 13 13
- R U X A
73, 78, 93 | Il [ |
16. () L1} +3 43 43
I B All three are follow same pattern except.
Similarly
145, 150, 165
(|
+5 +15 26.(B) @’S
17(A)FTB 1QE LNH OKK [RHN
L il o O I
13 I3 3 1 +3 27. (A) o+ +
3 3 3 3 P—Q
+3 +3 +3 +3 |
18. (A) + _
Sigaporeans S R U
@ @ U is sister-in-law of 'S'
None of the follow. 28. (A) Comparision dice (I and I'V) figure
19. (B) Wheel : Spoke C 5/) <9 3/>
Same as 2 |4 ’ 5|1 ’
House : Room
20. (D) Hectometer, Decameter, Decimeter ) U U
Cetimeter Milimeter. I?pposue 2 : i
3.1.5.4.2 A
21. (D) 5. Face 6. Neck 2 AIS opposite (€)
1. Shoulder 4. Chest e GAURAYV
3. Stomach 2. Thigh \L*S l:S l*S -5 \L*S lfS
5,6,1,4.3,2 L VZMF Q
Similarly
22. (D) | ¢ LI ON
+5 iS \trS -5
QDTII
: 30. (A)8:20
4 Fay Mirror image = 11 : 60
23.(C) [] [ -8:20
3 : 40 correct answer
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62
Mock Test ‘

——

1. (D) In this question, we show that P@Q' means P
is the father of Q, 'P*Q' means P is the mother
of Q, 'P&Q' means P is the brother of Q and
'P%Q' means P is the sister of Q. the expression
WaV&T%Q-

Tl* = Mother/Father

v+ T. Q- = Brother/Sister

+= Male
- = Female

W is the father of Q.
Hence, the correct answer is option D.
2. (A) There is a difference of 6.3 between
conjugate terms —
72 - 65.7=10.3,
65.7-59.4 =063,
59.4 —53.1=6.3,

3.(A) COMPARE is written as 3479186
C OMPARE

L

347918¢6

CONNECT is written as 3455632,
CONNECT

COMPACT is written as 3479132.

SOLUTION

4.(C)|®
2

5. (D) From the information given in the question,

Rohit+ «fmmme Priya-

|

Riya- «—— Richa- +——» Wahid+ «fmmmle Neha-

g = Husband/Wife
= Mother/Father

+—* = Brother/Sister
+=Male
- = Female

Priya is the mother in law of Neha.

So, the correct answer is option D.
6. (A) PENCIL => QGQGNR

P—Q (next letter)

E—G(one alphabet omitted)

N—Q (two alphabets omitted)

C—G(three alphabets omitted)

I—>N (four alphabets omitted)

L—R (five alphabets omitted)

like that,

CIRCUIT will be written as DKUGZOA.
7. (D) Given:30+2-10 x6+5=35
After converting the signs (+ and x)we get,
30+2-10+6 x5
15-10 + 30
45 -10=35
STUD ENT
VUTF RLC
Similarly

TEAC HER

+1 +2 K2

BFUE P CF

8. (C)
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9SAD F+3 =71+ M

M+3 2P 44T
Similarly.
T+3—>W.

10. (D) Itisgiven that: A+ B means A is father of B.
A-B means A is sister of B. A * B means A is
brother of B. A % B means A is the son of B.
Therefore, the expression T% S * K + D-M can
be represented as in the figure below:

Brother

s— KO
son daughter
I+ D—M
() sister

t |

cousin

From the above figure, it is clear that T is the
cousin brother of M.
So, the correct answer is option C.
11. (C) As,
96 +3 =32,
Similarly,
48 +3=16
Hence, option C is the correct response.
12. (D) Refer to the table below :

Symbol ® - + +

Meaning + + - x

250 +2 -5 x25=7

After changing the symbols,
250 x 2 +5+125

Applying BODMAS we get,

=250 x2+5+25

=500+5+25
=100 + 25
=125
13. (A) 567 ~ 3 =189
189 +3 =163
63 +3=21
21+3=7
14. (A) Logic :
Row 1:
25 x 41 - 500 = 1025 - 500 = 525
Row 2:
19 x 38 - 500 = 722 - 500 = 222
Row 3:

29 x 47 - 500 = 1363 - 500 = 863

15. (D) Given series follows the pattern given be-
low:
First letter - R¥2 > T, T+4 > X, X+6 — D,
D+8 > L
Second letter - N+3 —» Q, Q+6 > W, W+9 —
F,F+12 > R

16. (A) Logic :

Column1: 13 x7=91,9+1=10
Column2: 19x4=76,7+6=13
Column 3: 23 x9=207,2+0+7=9

ad

3 is common in fig(1) and fig(2).

Therefore, the sides 6,1,4, 2 will be
consecutive side face of the side 3.

So, the side 3 will be opposite to the side 5.

18. (B)
=K

Only conclusions II follows.
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19. (C) As, 147 - 100 = 96, 96*2 = 192
Similarly,
122 - 100 = 44, 44*2 = 88

20. (C) As given in the figure, we need to fold it in a
book folding manner and Option C would ap-
pear when the transparent sheet is folded at the
dotted line.

"
N '

1 1
S

. 1

I 1

: I
I S

21. (B)

+2 +4 +6 +8
H ¥ T D
| X
1z ¢ L
Similarly,

+2 +4 +6 +8
R C 0 P

x|

T U G X

Thus, HYTD : JZCL :: RCOP : TUGX
22.(C) 212=441, 441 - 200 = 241
Similarly,
332 = 1089, 1089 — 200 = 889
23. (B) Lokesh > Gagan
Lokesh > Abhishek
Abhishek = Suresh
Lokesh > Abhishek = Suresh
Lalit > Lokesh
Lalit > Lokesh > Abhishek = Suresh
OR

Lalit > Lokesh > Gagan
24. (C) Refer to the table;
A A A A
Symbols X + + -
B B B B

Son Father Daughter Wife

The expression P x Q — S x R draw as —

meaning

R#+/- e = Husband/Wife
Q- ‘lj-l- J’ = Mother/Father
l + = Male
- = Female

P+

25. (A) In all other numbers, the multiplication of
the digits forms a perfect square.

However, in 223 =2 x 2 x 3 =12 (not a perfect
square).

26. (C) Except SVX, the first letter moves 3 steps
forward to give the second letter which moves 3
steps forward to give the third letter.

Hence, 'SVX' is the odd letter group.

27. (B)

AN J 3
/e H N
.-"’ ‘\.. lf .‘*-,_

Bf—«—ur C

The number of triangles formed are :
ABC, BDI, ECI, ADE, DEI,

BGI, BGD, ADF, AEF, ECH, HCI,
So, there are total 11 triangles.

28. (D) The code is given by subtracting the square
of total number of letters to its preceding
number’s square.
DESIRE -6 and code — 6% - 5 =36 - 25=11.
Hence, total number of letters in COMPATIBLE
is 10.
Code —10%-92=100 -81=19

29. (C) The series will be,

2
-4 -4 -5

-3
66

2
PRI N B S )

_52
]
30. (A) ConditionI:A>B>C

ConditionIl : A>D>C>E>F
A got highest marks.
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M0c6k3Test‘ SOLUTION

I —
1. D)N=30,14 x2=28+2=30 7. (B)
COT=78,3+15+20=38x2=76+2=7178
Similarly

PET =16+5+20=41x2=82+2=84
2. (C) Figure It and II* comparision

1 /> G /) Neither I nor II follow.
3 2’ 5 2’

8. (D) Work : Jule :: Area : ?

U '\J Work is major by Jule.
Area is major by Heactare.
Opposite 231 9. (C) Jump is different (other three are Typical
Faces 256 sound of animal)
6 is opposite 1 10. (C) Given figure is embedded option (C).
3.(C) 1. Flat 2. Street LN P DF H
3. Room 4. Apartment 11. (D) |+2”+2| |+2”+2|
>. City F HJ T VW
3.1.4,2,5 | [ | | [l |
4. (D) Single =12 2 42 2 -1
Double = 6 12. (D) 8:49
Large =2 (8-1)* = 49
Total = 20 Same as
G I K G 1 K 12121
5B | I | | I | (12-1)* = 121
+2 +2 +1 +1

13. (B)
B D F 1|\I IR

P
| Il | I Reptile
+2 +2 +2 +2

Not follow the same pattern other are follow.

BROWSE
6 @) " 14.(A) 26A2A3A3A13
T GUYQTD Put sign option (A)
Same as 26+2x3=3x13
AMALGAM % .40
+2
13x3=39
[OCINCOC] S
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15. (D
® (liOAT : ],T?QYW ~TRES:|QTCYV
| Iy
LT - J 21. (C)
+2 2
) )
3 3
7 15 31
16. (B) Cow : Milk 22. (O L
Cow Produce milk, S
ame as
Same as
37 15
HEN:EGG
x2+1 x2+1
Hen Produce eggs o
17. (C) aba b codab a b ¢ ¢ dababe ¢ d 23. (A) 255 (other three are divisible, 2, 4 except -
255)
bacccd
Pattern ababced
24. (C) i i
18. (A) O
25. (D

opp. opp.
ADZW NOML
19. (D)
opp. opp.
opp. not opp.
EGVT TUG D
LI LI
opp. opp.
20
20. (A) ° 9
o O o

) 1 like horse - rek pek tek
We love bike - wek sek mek

I and IT are not sufficient to answer the quesion.
26. (D) (1, 4, 2)

7
7.0 | g |

B E H KN Q
wo PR ENRT

+3 +3

29. (D) Neither conclusion I nor II follow.

Pl
30. (A) \ g /

Deepak sir Social Media

(O)
3o

= =1 =] = [=] 25 ) [m]
L
Ay %
[}t 2 e : [=1<
Telegram Facebook Instagram YouTube Twitter

[¢
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1. (D) 5 Nov. — 2019 - Tuesday
5 Dec. — 2011 - ?

25+5 30
5 Dec. 2019 = - =7 =2 odd day
+ 2 = Tuesday
5 Dec. 2019 - Thursday
5 Dec. 2011 - 7

diff. = 2019 — 2011 = 8 years
— 2 leap year, 6 normal year
—2x2+6x1=4+6=10

10
- — 3 odd day

5 Dec. 2011 = Tuesday — 3
= Saturday

b4 D>dg

3.(C) @ % |4
&

Opposite % @ $
# + &

4.(C)
ZODIAC

DOZCAI
Same as

MISTER

SIMRET
5.(D) Rowl: 14 +28 +98 = 140

Row I : 8 + 48 + 84 = 140

Row I1I : 20 + 60 + 60 = 140

ZODI AC

6. (C)
DOzZCAI

Similarly

MIST E R

S ITMRET

" O /AN Tasty - lam A [dand
@Asweet -sam@
@® ate - @) [dam| pam

Tasty - lam
Sweet - Sam
8. (A)

6|5 %IS 1#2 153 2|1|5 3”05 4|30

TL LT LT
7 14 21 28 35
[ I I I J
7 7 7 7

Logic : tripple diff.
9. (B)

C

G

[sitting clockwise given in question]
E is sitting third to the right of H.
10. (A)
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+1)—
11. (B) \(fl)wel \(fl)wel \\/ls)wel Vowel \\/fl)wel %((+11))_1;(
AGM  EKN 100 [OSP] UWA The squence : (2, 3, 1, 4)
CH+D-D
7 4 | +4 A(+1)-B
1 1 +1 +1 uEh -V
Logic : vowel written in accending order I({}(I}) _?
counsonant is written +4, +1 T((+ 1))_ U
12. (C -
© son A7) ) Squence 342516
?=VHBIDU
(+) B —06) Dev’ .
8.0 FShcae
Girl Option (D) correct mirror image of given com-
o o bination.
Dev's wife is Daughter of that girl's | o (D) Two possibilities there
andfather.
& () LNP (ny PLN
13.(A) CSMH YN I D ||| |||
+10 — -10 =Ty KM O O KM
Same team member is PLN, OKM
J YT O 1 XS N 20. (D) JSH#R%N&THUY%P
—10| | -10
+10 +10 J*
Option (A) not follow the pattern other
follow same pattern |
14. (B) 24*12*35*24*%6*319 H* R
Put sign option (B)
24 x12+35-24+6=319 |
288 +35-4=319 . ) )
288 + 31 = 319 N——T —U
319 = 319 |
15. (D)
P

T

% %ﬁ% {morning time)
Shadow

Diksha

'N' is the sister of 'P' (not correct).

SR S T I TV e vin A
T |
Arpita's face south direction - - B =
16. (B) 20 : 400 Logic - (=1, +2. =3)
(20)2 = 400 22.(D 1
In other option II™ term multipli I term but not O3 Q )I ! d
square except option (B).
17.B) SLOW
MPTZX
SLOW : MPTX similarly CAUGHT :? 23. (D)
S(+1)-T
L(+1)-M
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24. (0) 27. (C)
Q Tree
R T
Both follow.
Z C G L H K O T
P S 28.(C) LAL_IL_| LI |
3 +4 5 3 4 5
P is sitting second place to the left of 'T". ?_|IT_|V|_|B }|<_|N|_|R|_|W
3 +4 6 3 4 5
2B pjleep'==Maya~ Devansh Odd out.
29. (C)
1 (@ [Shosotaed] - 9
Manoj' ===Priti—— Virat’ LN pougit -3
Maya is mother-in-law of priti & then - Lo
26. (A I bought then - ?[936]
M oBES LTY |
opp.l 9 3 6
EBO H YTI GT K X MNRT
Similarly 30. (B) IJI|_|_| =
FIX T URE . ©
opp| BY F C SHW L
' L1 1 | I | |
X1TF G ERU +4+4 +4+4

= Steps = WA -

1. Youtube W S|

S i

T A3 Reasoning%ﬁh‘(ﬁ ‘i:ﬁ‘Topic?:lﬁ STTETL
¥ 3T W 9o ® WHeA Hehd & a1 oft faereRet Free

2. Search =¥ Topic Name by Deepak Sir
Calander by Deepak Sir
Clock by Deepak Sir

Daily Class Pdf download &+ & fem

TAN dEEEe

www.deepaksir.com T fafse =
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—

VT T
1035210 1228104 16

Logic : (Vowel Numbering A, E, 1, O, U=1, 2,
3, 4, 5 consonats - reverse value + 1)

We can observe that the vowel 'E' is given 'Z' and
T is given 3. from this we conclude that the
vowels A, E, I, O, U, are given continuous num-
ber 1, 2, 3, 4, 5 onespectively.

So in the word petrol E stands for 2 and O stands
for 4. Now 'V' is River is given number 5 which
the letters of alphabet for consonants are given
(reverse+1) (opposite) numbering.

There fore the code for the word PETROL-12-
2-8-10-4-16.

B R I D GE

o | ]

AC QS HJ CE FHDF
Similarty

[OQNP V XD FQ|

Logic : (given alphabets letters coded before and
after)
like-B= A -before 1
C -after 1
3. (C) Guava (because - orange is citrus and orange is

coded as Guava).
4.(C) ColumnI. (3+14)x2=34

Column 1. (18 +13)x2 =62

ColumnII. (27 +x) x2 =98

54+2x=98,

44
2x=98-54, x=—,x=22

>

SOLUTION

5.(D) OLE V&E VOL (opposite each other)
XHEP & KVRA (Not opposite place value)

Other three are opposite cach other alphabets

except option (D)
6.MD) 64 : 100 : 18 25 ;16 9
|82 |102 5 4
8§ + 10 = 18 5 + 4 =9
18=18 9=9
16 : 64 : 12 81 : 9 : 19
4 g’ o’ 3’
4 + 8 =12 9 + 3 =19
12=12 12 #19
7. (D) Only conclusion I follow.
8.
© 40 50 61 73 86 [100] 115

+10 +11 +12 +13 +14 +15
9.(0)76 : 171 ::?7:?
7 6 : 17 1
|
19x4 19%9
Same way
2 8: 6 3
LI
Tx4 7x9
Logic : x4, x9
10. (D)
5. Meter 3. Method
1. Meticulous 2. Metric
4. Mettle
5,3.1,2,4
104 108 54 58 29
11.D) | I | I | |
+4 2 +4 2 +4
31 should replace by 33
Logic : +4, =2
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K J L 1 [M]H
| |
13. D) +1 +1
-1 -1
14. (A) 198

15.(C)31:3::75:35:54:20
3x1=3
7x5=35
Similarly
5x4=20
16. (A) SPORTS =214
19+16+15+18+20+19 = 107
107x2 = 214
Similarly
SOCIAL=?
19+15+3+9+1+12 = 359
59x2 = 118
17. (D) ULTERIOR = 33259969
U=21=2+1=3, R=18=48=9
L=12=1+2=3,1=9=9
T=20=2+0=20=15=1+5=6
E=5=5 R=18=1+8=-9
Similarly
NAVIGATION - 5149712965

19 39 38 137

19.®) Lo =0

37 75 25 53
LI

x2+1 X243

1 1 2 3 7 22 [155

20. B) | L I I I |
STAT TAI9T 12+1 3:2+1 7-3+12257+1

Logic : First two digit multiple and odd + 1

Wild animal

21. (B)

Only I and I'V follow.

23. (A) Option (A) is odd because other three options
are first two letter small except option (A)

24. (0)

oooD

25.(A)

I M
Y XMV XHZF
Y

0O HZ F N| put common coded value.

26. (A)UTKARSH =17,
214+20+11+1+18+19+8=98
9+8=17
CLASSES=15
3+12+1+19+19+5+19="78
7+8=15
Similarly
KETAN=?
11+5+20+1+14=51
5+1=6="?

= q—m

C
|
Z
H

O oy—n

i
H
A
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27. (B) ?=32
F E N 3|2 10 28 2. (A)
x2
X2
x2 Shining
Camera
Logic : (Place value x2)
28. (B) 2809 : 53 :1024:7 Only IT and TV follow.
(53)* =2809

(32)° = 1024

given information.
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